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M F0 HFY HO &R
C: QASA Y FHER X (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
O3 & HA 57,468
&I 2 =ER= 2,750,000& = 12& 33,000
-M3 2 FAX 23 180,000& * 12& 2,160
—pdegsE MRS 360,000& = 123 4,320
“NENESE 23 1,200,000& * 128 14,400
-HladgsAE 8IS
100,000& » 204 « 12& 2,400
—E2INERES 150,000& * 23| 300
-getzel it g2sl 50,000& = 13l 50
SHA HOIE REYS $M2
19,8002 * 128 238
-EA E FOXNXMEH 2EHE
300,000& = 23| 600
OFUTIME HOlZ B& 242
13,2003 * 2CH = 123 317
O ZHl 9,240
-LHEFA 2| 11,000& = 8AI2 » 105¢ 9,240
OAEEHl sX2eltl 25,190
-A2RXHl(1,612m) 1,500, 000& 1,500
-HAS2E 270,000 » 4201 & 11,340
-H=E o2l 100,000& * 404 400
-Hl&S+=AlE 500,000& * 20 2 1,000
-H&£&H sX2el 200,000& = 20CH 4,000
-2==J| |2l 50,000& =« 15CH 750
—HEIBEF=AE SEA 72
100,000& * 12& 1,200
“HAIR A Sags 3,000,000& 3,000
-EAMN ZF3=5 X2 2,000,000& 2,000
OXtg & et 3,905
-2~ 8352 2,605,000& = 1CH 2,605
-& I Xt 1,200, 0002 = 1CH 1,200
ASEEAI=T 50,000& = 1CH =23 100
307 2Iztol ™ 3,600 3,600 0
05 BIZHRI & 3 3,600 3,600 0
ORZHIAAE (HAHFRXRIAE)
300,000& = 12& 3,600
ME0 XSAS ST X 800 0 800
201 L2l 800 0 800
01 At 2teltl 800 0 800
OXEANSEHEAMS S &S =
20,000 = 10Y « 43 800
SHARDALER (ML) 515,415 223,436 291,979
L2REAMEFE 515,415 223,436 291,979
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SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
QlaoiZE & A 2AY 417,915 215,936 201,979
401 Al I 2 O8I 417,915 215,936 201,979
01 A& Bl 402,000 200,000 202,000
O&I22l =2 E &3 AHL=300m
30,000,000& 30,000
O&8432l M&ABI(L=150m) 30,000, 000& 30,000
Ogd4el otser FHl 3 AH(L=60m)
15,000, 000& 15,000
OUE1el =s2E & L 0otAZ I MX=2I((L=300m
) 30,000, 000& 30,000
Ogg2el = ZE S AH(L=200M)
22,000,000& 22,000
O&F3el otAE M =2I](A=2,000m")
20,000,000& 20,000
Oa=x22l =2 EZ & (L=180m) 20,000,000& 20,000
Ogthzel ot otAE M I[(A=2,000m
) 20,000,000& 20,000
Ot 1el =2 X & (L=200m) 20,000, 000& 20,000
Sd&el s Ed 2 =2 &I (A=450
m) 30,000, 000& 30,000
Ogg2el Otserz! = & (L=200m)
20,000,000& 20,000
Ogd7el tis==2 &bl (L=140m) 20,000,000& 20,000
o4& 6cl 2sJI7EX 10,000, 000& 10,000
og422 s X F(L=200m) 20,000,000& 20,000
Ot 1el =2 & & (L=250m) 20,000,000& 20,000
OAREAE XNE & = 9|
5,000,000& 5,000
OEzd H=&d 10,000, 000& 10,000
OE2 S ANE RXNE=H| 50,000,000& 50,000
OOtolar Setz & DIsd Az Fy|
10,000, 000& 10,000
03 Al 20 HI 15,915 15,936 A 21
OAnE F0=JAAY FIARUHH
127,000,000& * 0.72% 915
ON&EH Xt 5,000,000& 5,000
Oz ¥ otaddl EUlgdXtz 10,000,000 10,000
2 THMY 7,500 7,500 0
206 M= Hl 6,000 6,000 0
01 24l 6,000 6,000 0
OZAZH MEH 6,000,0008 6,000
T AEHIZXEUY 1,500 1,500 0
03 AIE 2 0HHI 1,500 1,500 0
OZ2Z x4 FHIYXZ 1,500, 000& 1,500
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HM: SHARDAIGZ=R (AADH)

Sl ARBAYE (B9 ®R)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
Z=0IE O Off & 90,000 0 90,000

401 Al HI L 20 HI 90,000 0 90,000
01 A& HI 90,000 0 90,000
O=2doel~dA&12| Actd &2 AFY
30,000,000& 30,000
OdHd™ Hat0ed] AtY 30,000,000& 30,000
Osx=8 HAH XA 30,000,000& 30,000
HHSAAY (M4HH) 117,019 113,124 3,895
Jl2dgl(48H) 117,019 113,124 3,895
Jl2&H| 117,019 113,124 3,895
201 et A H| 60,239 55,744 4,495
01 AFR2t2l bl 42,820 38,220 4,600
Oga = (2=524|) 14,520,000& 14,520
Odet=g2H| 6,000,000& 6,000
OF=1=1:] 5,140,000 5,140
OS A dx &z 160,000 = 204 = 128 3,840
O&=J gz 50,000 = 104 » 12& 600
OH™EH AP2E FH| 12,720
-HHTelHDl 8,800
- EY 440,000 * 201 + 45 = 23] 7,040
- 440,000& * 200 * 23] 1,760
-BtIT el 200,000 = 8CH * 23] 3,200
-FAX 120,000 * 204 = 33| 720
02 53294l 17,419 17,524 A 105
O2222 ¢ MM(fE23) 15,100,000& 15,100
O#HFEH FAEE=HI 2,319
-CIIs AR 212 1,300,000& = 23CH * 5% 1,495
-Tglf 4,000,000& * 10CH * 2% 800
-FAX 600,000& = 2CH * 2% 24
202 04| 45,900 45,900 0
02 EHN Y| 45,900 45,900 0
O& A I 225,000& * 174 * 12& 45,900
203 2P E= | 10,880 11,480 A 600
01 J|22HLRF=AH| 6,600 6,600 0
OHE 550,000& = 12& 6,600
02 HRJAHE 2 =XY| 680 680 0
O&XJ A& &AH| 40,000& * 1794 680
04 2SI L RF=AH| 3,600 4,200 A 600
ORANSELERFAH| 300,000&  12& 3,600




